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* ROUTINE pronounceable_ |
FUNCTIONAL DESCRIPTION:

This procedure tests a word supplied by the caller for pronounceability.

' /
: ]
' i
' i
: i
] :
59 | : The word is tested by using random_word_ and whatever existin? digram
60 | ! table is in use by random_word_ to determine the syllabification and .
21 ; s pronounceability of the word supplied. ;
63 ! i INPUT PARAMETERS: |
64 | : word = A word consisting of ASCII Lletters to be tested.
gz : ; ALl characters must be Lowercase.
67 i i returned h(?hons - ‘
68 ! i K *1' bit in this array means that the corresponding |
93 ' 5 character in word is to have a hyphen after it.
;1 é g n_units = number of units in unit table. ‘
73 | i d_ptr - pointer to digram table
76 | ! r_ptr = pointer to rules table
;2 ' E L_ptr = pointer to letters table
77 ! | OUTPUT PARAMETERS: |
78 | ! NONE |
79 | !
80 ! ! ROUTINE VALUE:
81 | ! pronounceability - set if the word is legal according to
82 | : the random _word_ algorithm and the
gz ; ; digram table.
85 ! i SIDE EFFECTS:
86 | s NONE
87 | !
o
3? . pronounceable_: procedure (word, returned_hyphens, d_ptr, L_ptr, r_ptr, n_units) returns (bit(1));
9% 1 dcl word char(x); 4 /* PARAMETER: word being tested */
9 1 decl returned_h‘pﬁens(') bit(1) lllaned: /* PARAMETER: hyphens for word */
gg } dcl pronounceability bit(1) aligned; /* RETURNS VALUE: set if word is legal */
96 1
97 1 dcl word_Llength_in_chars fixed bin static; /* lenath of word in characters */
98 1 decl uord_arra{(ZO) fixed bin static; /+ word spread out into units */
G 1 dcl word_length fixed bin static; /* Llength of word_array in units #/
}8? } dcl word_index fixed bin static; /* index into word_array */
10 1
103 1 dcl random_word_ entry ((*) fixed bin, () bit(1) aligned. fixed bin, /+ algorithm used to test the */
104 1 fixed bin, sn r{. entry, ptr, ptr, ptr, fixed bin); /* pronounceablilty of word. */
105 1 dcl returned_word( :%0 fixed bin; /+ word returned by random_word_ */
06 1 dcl hyphenated_word(0:20) bit(1) aligned; /* hyphens for word returneéd from random_word_ +/
107 1 dcl returned_Length fixed bin; A dunng argument for random_word_, since */
108 ! 1 /* length of word is already known. v/

-
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1 dcl new_unit fixed bin; /* unit currently being tested in random_unit */

1 dcl Llast_good_unit fixed bin static; /* word_index of last good unit */

1 dcl splif_point fixed bin; /* index of 2-letter unit to be split into #/

114 | /* single letter units */

} dcl vowel_flag bit(1) aligned; /* set when random_vowel is called */

1

1

1

/* this array contains information abogt all possible pairs of units +/

/* this array contains left justified 1 or 2-letter pairs representing each unit */ ,
dcl letters(0:n_units) char(2) based (L_ptr); ?
/* this is the same as letters, but allows reference to individual characters */
dcl 1 letters_split(O:n_units) based (l_ptr),

first char(1) %
second char(1); |

dcl 1 digrams(n_units, n_units) based (d_ptr),

ogin bTt(1), /* on if"this pair must bogin syllable */

not_begin bit(1), /* on if this pair must no be? n+/ ;
end bit(1), /* on if this pair must end syllable */

not_end bit(1), /* on if this pair must not end */

break bit(1) /* on if this pair is a break pair */ !
prefix bit(\f. /* on if vowel must precede this pair in same syllable */ |
suffix bit(1), /* on if vowel must follow this pair in same syllable */ -
illegal_pair bit(1); /* on if this pair may not appear */ :

WA A AN PO NI NI PO NN NUNIND b b ed b b b o e d

/* this array has rules for each unit =/
dcl 1 rules(n_units) based (r_ptr),

no_final_split bit(1), /* can't be the onl{ vowel in last syllable */
nof,begin syllable bit(1), /* can't begin a syllable */
vowel bitT1), /* this is a vowel ®/ .
alternate_vowel bit(1); /* this is an alternate vowel, (i.e., ''y'") «/
dcl n_units fixed bin; /* PARAMETER: number of units in unit table */
dcl d_ptr ptr; /* PARAMETER: pointer to digram table */
dcl L_ptr ptr; /* PARAMETER: pointer to unit letters */
dcl r_ptr ptr; /* PARAMETER: pointer to unit rules */
dcl chars char(2);
dcl  char char(1);
dcl 1 fixed bin;
dcl j fixed bin;

split_point = 0;
goto continue;
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pronounceable_$split: entry (word, returned hyphonsgtsglitpoint. d
5

tr, L_ptr,
r_ptr, n_un returns (S?t(i))'p
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split_point = splitpoint;
continue:
/* Now that we have the word we want to hyphenate, we trg to divide it up into units as defined v/
/* in the gi ram table. We start with the first two Letters in the word, and see if they are equal to any +/
/* of the 2-letter units. If they are, we store the index of that unit in the word_array, and increment v/
/* our word_index by 2. If they are not, we see if the first letter is equal to any of the 1=letter units. */
/* If it is, we store that unit and increment the word_index bl 1. If still not found, the character is v/
/* not defined as a unit in the digram table and the word is i legal. 0f course, the word may still not be */
;: l::g:l according to random_word_ rules of pronunciation and the digram table, but we'll find that out '5
o L ]
word_Length_in_chars = length (word);
word_index = 1;
do 1 = 1 to word_length_in_chars;
hars = substr (word, T, min (2, word_Length_in_chars = i + 1));
do j =1 to n_units while (chars “= letters (j)); /+ Look for 2-letter unit match */
end;
if j <= n_units & word_index “= split_point
then do; /* match found */
word_array (word_index) = {: /* store 2-letter unit index */
word_index = word_index + 1;
; ¢ 1; /* skip over next unit */
end;
else do; /* two-letter unit not found, search for 1-letter unit */
char = substr (chars, 1, 1);
doj=1to n_units while (char “= letters (j));
end;
if j <= n_units
then do; /* match found */
word_array (word_index) = 1: /* store 1-letter unit index */
vo;d_index = word_index + 1;
end;
else do; /* not found, unit is illegal */
pronounceability = '0'b;
return (pronounceability);
end;
end;
end;
word_Llength = word_index = 1;
word_index = 0;
/* Now call random_word_, trying to get the word hyphenated. Special versions of random_unit and */
;: rango-,vo?:l are supp[ied that return units of the word we are trying to hyphenate rather than :;
random units.

call random_word_ (returned_word, hyphenated_word, word_length_in_chars,
returned_Length, random_unit, random_vowel,
d_ptr, L_ptr, r_ptr, n_unitsf:

goto accepted;

If random_unit ever finds that random_word_ did not accept a unit from the word to be hyphenated, */

a nonlocal goto directly to this Label (which pops random_word_ off the stack) is made, and we
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SF 3 /+* abort the whole operation, If the last unit trio? (i.e. the one n?t accopt*d) was a 2-letter unit, +/
61 1 /* we might be able to make the word legal by splitting that unit up into two 1-letter units and */
S ¢ } /* starting all over. Unfortunately, this is a Lot of code and complication for a relatively rare case. */
? 1 not_accepted:
g } word_index = word_index = 1; /* index of last unit accepted */
0 1 accepted:
1 1 = 1;
g 1 returned_hyphens = '0'b;
1 do i = 1 to word_Length;
: it; uosd_Tndex ¢ word_index < word_Length /* we never got done with the word */
en do;
pronouncoabilitg = '0'b; .
if Lletters_split (word_array (i)).second *= ' °* /* was it not accepted because of */ i
8 £ split_point = 0 /* an illegal 2-letter unit? v/
39 - then if pronounceable_S$split (word, returned_hyphens, i,
2? d_ptr, L_ptr, r_ptr, n_units) /* try again with split pair =/
42 | /* Note: in even rarer cases, the unit that might be split to make this word legal is not the */
43 | /* unit that was rejected, but a previous unit. It's too hard to deal with this case, so we'll */
44 | /* refuse the word, even though it niaht be Legal. As an example, using the standard digram */
45 | /* table, "Breeg-hu-o" is 3 legal word. However, our first attempt was to supply p-r-e-e-gh-u-o */
46 | /* units. Random_word_ rejects the ''u” because it may not follow a ''gh’’ unit in this context. */ .
47 | /* Since ''v'’ is not a 2-letter unit, we can't try to split it up, so the word is thrown out. */ !
48 | /* However, p-r-e-e-g-h-u-o would have been acceptable to random_word_. This is the only case */ l
gg : /* where a word that could have been produced by random_word_ will be rejected by this routine. */ '
51 then pronounceability = '1'b; /* word was legal when 2-letter unit was split =/ I
Sg return (pronounceability);
24 end; :
255 ¢ /* set returned_hyphens bits corresponding to character in word. Note that +/
256 | /* hyphens returned from random_word_ (hyphenated_word array) point to units, */ ,
%gz : /* not characters. x/
59 % if letters_split (word_array (i)).second *= ' °' '
60 then j7= | ¢ 2; l
61 else ) =) + 1; |
gi 2 returned_hyphens (j=1) = hyphenated_word (i); |
64 1 pronounceability = '1°'b;
ng } return (pronounceability);
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/* The internal procedures random_unit and random_vowel keep track of the */
/* acceptance or rejection of units they are supplying to random_word_. +/

random_unit: groc (returned_unit);
dcl returned_unit fixed bin; /* a unit from the word being tested */

vowel_flag = '0'b;
goto generate;

random_vowel: entry (returned_unit);
vowel_flag = "1'b;

generate:
/* get the next unit of the word being tested */
if returned_unit < 0 | (returned_unit = 0 & word_index *= 0)

then gofo not_accepted; /* if last unit was not accepted */
word_index = word_index + i;
new_unit = word_array (word_index); /* get next unit from word */
if vovol_flag /* 1f random_word_ wanted a vowel, and this next +/
then if “rules.vowel (new_unit) /* unit is not one, then we have to give up */
then if “rules.alternate_vowel (new_unit) /* can't give random_word_ a non-vowel */
then goto not_accepted; /* when it expects a vowel v/
returned_unit = new_unit;
return;
end;

end pronounceable_;
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* ROUTINE random_word_

FUNCTIONAL DESCRIPTION:

This procedure generates a pronounceable random word of caller specified Length
and returns the word and the hyphenated (divided into syllables) form of the

oo

N U U U U U U U AN N N AN N N AN NN N N NN N NN
) =D d o o o o o o o o

(V. [, )

word.
INPUT PARAMETERS: f
hyphens =« position of hyphens, bit on indicates hyphen appears ;
after corresponding unit in ''word''.
length - length of word to be generated in letters.

random_unit = routine to be called to generate a random unit.

/
|
i
i
i
i
i
i
i
i
i
i
i
i
i
i
i
; random_vowel = routine to be called to generate a random vowel.
)
i
i
i
i
i
i
i
i
i

2 d_ptr =
s L_ptr - pointers to digram table.
$ r_ptr - |
% n_units = size of digram table (n_units x n_units). |
2 OUTPUT PARAMETERS:
2 word - random word, 1 unit per array element.
%0 word_length = actual length of word in units. ;
31 | ROUTINE VALUE: |
3 : NONE :
3 :
34 ! SIDE EFFECTS:
35 ! NONE
36 ¢
3 "
39 random_word_: procedure (password, hyphenated_word, length. word_Llength,
0 random_unit, random_vowel, d_ptr, L_ptr, r_ptr,
1 . n_un{ts);
g 1 del Rassuord(') fixed bin; . /+* PARAMETER: unit number coded form of word */
4 1 dcl hyphenated_word(*) bit(1) aligned; /* PARAMETER: Yosition of hyphens in word */
5 1 dcl Llength fixed bin; /* PARAMETER: length of word in letters */
g } ¢l word_length fixed bin; /* PARAMETER: Llength of word in units */
8 1 dcl n_units fixed bin; /* PARAMETER: number of units in unit table */
9 1 dcl d_ptr ptr; /* PARAMETER: pointer to digram table */
50 1 dcl L_ptr ptr; /* PARAMETER: pointer to unit letters table */
gé } cl r_ptr ptr; /* PARAMETER: pointer to unit rules table */
5 1
gg : } /* this array contains information about all possible pairs of units #*/
59 1 del 1 gigrans(n units, n_units) based(d_ptr),
) 1 egin bTt(1), /* on iT this pair must begin syllable */
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not_bogin bit(1), /* on if this pair must not begin */

end bit(1), /* on if this pair must end syllable */

not_end bit(1), /* on if this pair must not end */

break bit(1) /* on if this pair is a break pair */

prefix bit(1}, /* on if vowel must precede this pair in same syllable =/
suffix bit(1) /* on if vowel must follow this pair in same syllable */
illegal_pair bit(1);  /+ on if this pair may not appear */

/* this array contains left justified 1 or 2-letter pairs representing each unit =/
dcl Lletters(O:n_units) char(2) based(l_ptr);

/* this is the same as letters, but allows reference to individual characters */
decl 1 Letters_split(0:n_units) based(l_ptr),

first char(1)

second char(1);
/* this array has rules for each unit =/

dcl 1 rules(n_units) based(r_ptr),

no_final_split bit(17, /* can't be the only vowel in Last syllable */
not_begin s{llable bit(1), /* can't begin a syllable */
vowel bitT1), /* this is a vowel */
alternate_vowel bit(1); /* this is an alternate vowel, (i.e., ''y'") */
dcl random_unit entry (fixed bin); /* get a unit */
dcl random_vowel entry (fixed bin); /* get a vowel unit */
dcl unit fixed bin; /* a unit number from random_unit or random_vowel */
dcl nchars fixed bin; /* number of characters in password */
dcl  index fixed bin init(1); /+ index of current unit in password */
dcl (first, second) fixed bin init(1); /+ index into digram table for current unit pair +*/
dcl syllable_Length fixed bin init(1); /¢ 1 when next unit is 1st in syllable, 2 if 2nd, etc. */

dcl vowel_found bit(1) aligned; /+ set if vowel was found somewhere in syllable before this unit */
dcl Llast_vowel_found aligned bit(1); /¢ set if previous unit in this syllable was a vowel */

dcl cons_count fixed bin init(0); /* count of consecutive consonants in syllable preceeding current unit */
dcl debug bit(1) aligned init('0°'b); /+ debugging switch */
oct T fisedbin; 7 e
doi=0to lon?th:
assword (i) = 0;
yshcnated_uord (i) = '0'b;
end;

nchars = length;
/* get rest of units in password */
unit = 0;

do index = 1 by 1 while (index <= nchars);
if syllable_length = 1
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then d?: /* on first unit of a syllable, use any unit */
keep_trying: :gt; :1=2: :?zig); /* Last unit was accepted (or first in word), make positive */ .
;g:;{:ti.'_ unit = =ab§ (unit); /+* Llast unit was not accepted, make negative */ 5
it index = nchars /* if last unit of word must be a syllable, it must be a vowel */ !
then call random_vowel (unit); :
else call random_unit (unit);
??s%:grd £in?ox) = abs (unit); /* put actual unit in word */
ex “=
then if digrams (password (index-1), password (index)).illegal_pair
then goto r0¥ry: /* this pair is illegal +/
if rules (password (index)).not_begin_syllable 5
then goto retry;
if letters_split.second (password (index)) *= ' '
then i¥ index = nchars
then ?oto retry;
else if index = nchars=1 & “rules (password (index)).vowel
£ “rules (password (index)).alternate_vowel ,
then ?oto retry; /* Last unit was a double~letter unit and not a vowel */ ;
else 1f unit < 0 4
then goto keep_trying; ;
else nchars = nchars = 1; '
else if unit < 0 |
then goto keep_trying; !
s¥llablo_long h=2; . |
i rgkes splssuord (index)).vowel | rules (password (index)).alternate_vowel ;
en do; ;
cons_count = 0; i
vowe[_found = *1'b; i
end; l
else do; |
cons_count = 1; |
vowel_found = '0'b;
end;
last_vowel_found = *0°b;
end;
else do;
call generate_unit;
ifdsecond = 0 then goto all_done; /* we have word already */
end;
end;

/* enter here at end of word */

all_done:
word_length = index - 1;
return;
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* ROUTINE procedure generate_unit

FUNCTIONAL DESCRIPTION:

'onorato next unit to password, making sure that it follows these rules:
. Each syllable must contain exactly 1 or 2 consecutive vowels,
where y is considered a vowel.
2. Syllable end is determined as follows:
a. Vowel is generated and previous unit is a consonant and
s{llablo already has a vowel. In this case new syllable is
started and nlroadl contains a vowel,
b. A pair determined to
In this case new syllable is started with second unit of this pair.
¢. End ?f.passuord is encountered.
d. '?:g ?hi:.‘:i:‘ encountered legally. New syllable is started
» ®
e.''end"’ pair is logolly encountered. New syllable has nothing yet.
3. Try generating another unit if:
a. third consecutive vowel and not y.
b. "“break’ pair _generated but no vowel yet in current syllable
or previous 2 units are “not_end".
. 'bcgin air generated but no _vowel in syllable preceedin
begin pair, or both previous 2 pairs are designated ‘'not_end''.
d. 'end” pair generated but no vowel in current syllable or”in "‘end'’ pair.
e. "'not_begin'' pair generated but new syllable must begin
(because previous syllable ended as defined in 2 above).
f. vowel is generated and_2a is satisfied, but no syllable break is
possible in previous 3 pairs.
g. Second & third units of syllable must begin, and first unit is
alternate_vowel''.

be a '‘break’’ pair is encountered.

The done routine checks for required prefix vowels & end of word conditions.
INPUT PARAMETERS:
NONE

OUTPUT PARAMETERS:
NONE

ROUTINE VALUE:
NONE

SIDE EFFECTS:
NONE

L]
~

generate_unit: procedure;

del 1 x, /* rules for the di?ra- urrtntl‘ being tested+/
egin bit(1), /* on if this pair must e?in syllable +/
no _be?in bit(1), /* on if this pair must not begin */
end bit(1), /* on if this pair must end syllable */
not_end bit(1), /* on if this pair must not end */
break bit(1), /* on if this pair is a break pair */
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prefix bit(1), /* on if vowel must precede this pair in same syllable */
‘uffi: bit(1) /* on if vowel a?st ollow this pair in same syllable */
Llegal_pair Bit(1);  /+ on if this pair may not appear */
dcl unit_count fixed bin init (1); /* count of tries to generate this unit */ ;
del tr‘ Yor_vowel bit(1) aligned; /* set if next unit needed is ’ vowel */ |
del v bTt(17 aligned; /+ set if Last unit generated is a vowel, or an «/
/* alternate vowel to be treated as a vowel v/

dcl {1 fixed bin;

first = password (index=1);

/* on last unit of word and no vowel yet in syllable, or if previous pair «/
/* requires a vowel and no vowel in syllable, then try only for a vowel ¢/

if syllable_Length = 2 /* this is the second unit of syllable */ .
then try_for_vowel = “vowel_found & index=nchars; /* last unit of word and no vowel yet, try for vowel *
else /* this is at least the third unit of syllable */ [
if “vowel_found ! digrams (password (index-2), first).not_end

then Try_for_vowel = digrams (password (index=2), firsSt).suffix;
else try_for_vowel = '0"b; .
goto keep_trying; /+ on first try of a unit, don't make the tests below */ !

/* come here to try another unit when previous one was not accepted */

try_more:
unit = =abs (unit); /+* last unit was not accepted, set sign negative */
if unit_count = 100
then do;
f debug
then do;
put edit ('100 tries failed to generate unit.', 'password so far is: ')

(a, skip, a);
do i =1 to index;
pu; edit (letters (password (i))) (a);
end;
put skip;

end; '

call random_word_ (password, hyphenated_word, length, index,
random_unit, random_vowel, d_ptr, L_ptr,
r_ptr, n_un{ts); |

second = 0; |

return;

end;

/* come here to try another unit whether Last one was accepted or not */

keep_trying:
if tr‘_for-vouol
then call random_vowel (unit);
else call random_unit (unit);
sccon? = 033 (unit); /* save real value of unit number */ a
if unit >

then unit_count = unit_count ¢ 1; /+* count number of tries */
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/* check if this pair is legal +/
it digrlns (first. second).illegal_pair

1 'ot? more; ,
i clso i ‘ B sogogd /* if Llegal, throw out 3 in a row */ ;
ex i
thon it password (index=2) = first |
S then goto try_more; ,
if lottors s?llt (socond).sccond fz ' ' /e check if this is 2 letters */ !
ndex = nchars /* then if this is the las} unit of word */ i
thtn goto try_more; /* then a two-letter unit is L ~/ |
89 else nchars ="nchars = 1; /* otherwise decrement number of charactors v/ -
90 assuord (index) = second; |
91 f rules (socond).lltornato vowel
9; then v = “rules (first) vowel;
9 else v = rules (second). voucl-
96 = digrams (first, second);
95 if syl able lcngth > 2 /* force break if Last pair must be followed */
g? t cntit ?raas (password (index=2), first).suffix /¢ by a vowel and this unit is not a vowel */
hen
gs thon break = '1'b; /* if Last pair was not_end, new_unit gave us a vowel */
600 ! /* In the notation to th’ ght. thc sorios of letters and dots stands v/
601 ! /* for the Last n units 1n { lable, to be interpreted as follows: v/
60; : /* v stands for a vouol (inc uding alternate_vowel) v/
603 ! /* ¢ stands for a consonant */
604 | /* x stands for any unit %/
605 | /* the dots are interpreted as follows (¢ is used as example) v/
60? ' /* C...C One or more consecutive consonants v/
607 ! /e c..C 2ero or more consecutive consonants */
608 ! /e ...c one or more consecutive consonants from beginning of syllable +/
609 ! /e . zero or more consecutive consonants from beginning of syllable +/
610 ! /* tho vortical line ! marks a syllable break.
611 | /* The group of symbols indicates what units there are in current
61; : AR ‘lloblo. The Last symbol is always the current unit.
613 | /* The first symbol is not necessarily the f rst unit in the
614 | /* syllable, unless preceeded b dots. Thus, ' vcc..cv ' should be
615 | /e intergrotod as ..uvcc..cx i.e., add * ..x to the beginning of all
g}? ' /* syllables unless dots begin the syllable.). */
618 if syllable_Length = 2 £ not_begin /* pair may not begin syllable +/
619 zhen oto lgop: o8 /* 2ulo 30! ./ . v 2
0 if vouel ound ;
621 then if cons co t *=0 1
6; t ? VC.-.CI .l 1
a thon it syllable_Length “= 3 l not_end_(3) /* vc...cx bo?in v/ ‘
624 then can we Dreak at vc..cicx !
625 if not -end_ (2) I- no, try a break at vc...cix */
6 9 thén goto Lloop; /* rule 3c. */
6 elso call dono (v. 2); /* ve...cix begin, treat as break */
628 olso cal ?no (v, 3); /* ve..cicx begin */
E else not eg /* yc...cx “begin */ a
6 then if break /* ve...cx not begin «/
631 then if not_end_ (2) /% vC,..CiX ro,k v/
6 g then gofo loop. /* rule 3b, can't break +/
6 else call done (v, 2); /* vc...cix break */
6 else if v /* ve...cx “break not_begin */

-_a_ o _a . S L W - — . &
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then - /* vC...Cv *“break not begin v/
if not_end_ (2) /* try break at vc...Civ */
thén goto Loop; /* rule 3f, break no good */
else call done ('1'b, 2); /% vc...civ treat as break */
else if end /* vC...cC “break not_begin */
then call done '0 b 1); /% ve...cc! end */
else call done ('1 0); /% ve...cc “break “end not_begin */
else if v /' VCaoaCX ‘begin “not_begin +/
then /* ve...Cy rule 2a saySs we must break somewhere */
if not end_(3) 8 syllable length hs
thén if not_end_ (2) /* ve..cicv doesn't work */
then if cons_count > 1 /* ve...civ doesn't work =/
en /* vc...ccv */
if not .end_ (4) /* try vc..ciccv */
! grans Tpassuord (index=2) first) not begin
hen goto loop; /* rule 3f »/

else call done ('1' b 4); /* VC...ciccv */
else goto loo?'b /* vc.. civ and vc..c.cv are no good */

else call done ( ): /* ye. ..c.v treat as break */
else call done (*1'b . /' VC..CiCv treat as break «/
else call done ('1'b, 0); /' VC...CC “begin “not_begin */
else /* vowel found and Last unit is not consonant => [ast unit is vowel */
if v £ rules. vouel (password (index=2)) & index > 2
then ?oto Lloop: /* rule 3a, 3 consecutive vowels non=y =/
else /* yx »/
then call done (‘0'b, /* yx end */
else if b /* yx “end */

then i? last_vowel_found /* yx begin */
then if v /* v..,vux begin */
then it syllable Length = $ /% v..,vuy begin +/
f rules( assword((index-i))).al ernate_vowel /* ivvv begin */

then goto loop; /* rule 3g, i'y'ivv s no good */
else call done('1'b, 3) /t ivivy begin */
else if not_end_ (3) /* v, v begin */
t en goto Loop: /t rule Bs v...v.vv no ’ood */
lse call done('1'b, 3); /* v, ..v.vv begin *

else if s¥llable length = 3°/* y,..vvc boa n+/
then 1f rules.al ernate vowel(pa;swor (index=2)) /* ivvc begin */
then ?oto Lloop: “/* rule ? ‘lve is no good */
else 1f rules. vouel(?assu rd( ndox- )) /» .x.vc begin */
then call done( b, /* ivive be?
.c.vc bc in is il cgal '/

else goto oop. /*
else if not_end_ /* v...vvc begin */ :
then /* v...vvc begin try to split pair «/
if not .end_ (2) /* v...vvec begin +/
thén goto Loop; /* v...vvic no good */
else call done('0'b, 2); /+ Veoovic v/
else call done('1'b, 3); /* v,...vivc begin */
else /* try splitting begin pair */
if s{llablo length > 2 /* ..cvx begin
hen if not_end_ (2) /* ...cvx begin -I
then gofo loop; /* rule 3¢, ...cvix no good */
else call done (v, 2) /* ...cv.x bo n v/
olse call done (*1'b, 0); /* ivx begin
else it break /* ..xvx_"beg in “end +/
hen if not end (2) ¢ syllable_ longth > § I' .o XyX break */
then gofo Loop; /* rule 3b, ..xvix is no good */
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else call don

else call done ('

else if break /

then ?oto Loop; /

else 1f end /
then if v

then call done ('0'b, 1);

else v
then if begin & syllable_Length >
then goto loop;
else call done ('1'b, 0);
else if begin
then it syllable_Llength > 2
then goto Lloop;
else call done ('0'b, 3):
else call done ('0'b, 0);

B
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«eVix break =/
..vx “end “begin “break */

«esCix break no good */

«esCX “Drea
/v ...cx end */
/* ...cvi end (new syllable) #/
else goto loop; /* rule
/* ...cx “end “break */

k */

b, ...cci end no good */

/=
/*
/%
/%
/®
/%

«eesCv “end “break */

C...Cicv “end “break begin, rule 3¢ */
«s.CV “end “break “begin */

«eesCC “break “end */

«.CCC_begin #/ :

rule 3¢, ...ccc begin */

tcc begin +/

..XcC "end “break “begin */

/* w=xwxxeexx return here when unit generated has been accepted #r#xwx =/

return;

/v sexxssxe enter here when unit generated was good, but we don't want to use it because *eeerrnse 2/

/+ =exxsver it was supplied as a negative number by random_unit or random_vowel

accepted_but_keep_tryin

/* xxxxxeex enter here when unit generated is no good *revesx =/

loop:

it letters_splig'(second).second Py =8

tRRRARRRY ®/

then nchars = nchars + 1; /* pretend unit was no good */

unit = =unit;
goto keep_trying;

if letters_split (second).second *= ' '
then nchars = nchars + 1;
goto try_more;

/* make positive to say that it would have been accepted */
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/***  procedure done rve/

/* this routine is internal to generate_unit because it can return to loop. */
/* call done when new unit is ?enerated and determined to be v/

/* legal. Arguments are new values of: */

/* vf vowel_found */

/* sl syllable_Length (number of units in syllable. v/

/* 0 means increment for this unit) v/

done: rocedure (vf, sl);

dcl vf bit (1) aligned; /* set if vowel found in this syllable before this unit =/

dcl sl fixed bin; /* number of units in syllable (0 if this unit is to be */
/* added to the current syllable). */

/* it we are not within first 2 units of syllable, check if */
/* vowel must precede this pair */

if sl %= 2
then if sgllable length *= 2
then if prefix

then if “rules.vowel (password (index=2))

then /* yowel must precede pair but no vowel precedes pair */
if vowel_found /+* if there is a vowel in this syllable, */
then /* we may be able to break this pair. v/
if not_end_ (2) /* check if this pair may be treated as break */
then aoto loop:; /* no, previous 2 units can't end */
else do; /* yes, break can be forced */
call done ('0'b, 2); /* ...cxx or ,..cvx */
return;
end;
else goto loop; /* no vowel in syllable */

/* Check end of word conditions. If end of word is reached: =/
/* 1. We must have a vowel in current syllable, x/
/* 2. This pair must be allowed to end syllable */

ifslL *=
then if index = nchars
then if not_end
then ?ofo Loop;
else 1f vf = '0'b
then goto loop;

/* A final ''e'' may not be the only vowel in the last syllable. */
if index = nchars

thent;f r?%esl(sec?nd).no_final_split /* this bit is on for '‘e'' «/
en sl *=
thentif rules.vowel (first) /* e preceded by vowel is ok, however */
en;
else if “vowel_foundisyllable_length<3 /+ otherwise previous 2 letters must */
then ?oto Toop; /* be able to end the syllable v/
else 1f unit < 0
then goto sccepted-but_keep_trying;
else sl = 0;

it unit < 0

LR TR R T O O L e e T e L L L A R A N R R E I I I I I I I I T T " o O I T



:lzu.)‘umcsme_ § 5%9-19 4 ?} ;8 22 VAX=11 PL/I  X2.1-273 Page }g i

SEP=-1984 SKSVMSMASTER: [CLIUTL.SRCIPRONOUNCE.PLI; 1 )

;gs o tpenlgot? accepted_but_keep_trying;
V. 8§
78 then cons count = 0; /* this unit is a vowel or new syllable is to begin */
788 else if s{ =
789 thon cons_ count = cons_count + 1; /+ this was a consonant, increment count =/ |
790 b else cons_count = min(Sl=1, cons count01) /* a new syllab[t was started some letters back, */
91 /* cons_count gets incremented, but no more than */
/* numbér of units in syllable e/ |

ifslL=0
then syllable_Length = srllable-length * N
else syllable” len th = sl;
if szllable length >
hen LaSt_vowel_found = vowel found;
else last_ vouel _found = '0'b;"
vowel_found =" ;
if index - s lllﬁle lenath ¢+ 1 *= nchars |
then hyphenated_word (index = syllable_Length + 1) = "1'b;

end done; i
end generate_unit;
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0‘ ' } /**+  procedure not_end_ wev/
09 : 1 /* not_end_(i) returns "1'b when ( password(index=i), password(index=i+1) ) may */
}? : } /* not end a syllable, or when password(index=-i+2) may not begin a syllable */
1§ 1 not_end_: rocedure (i) returns (bit (1));
}‘ dcl” i Fixed bin;
315 it i = index :
}? " itggn1return (*rules.vowel (password (1))); E
315 then if rules.not begin_syllable (password (index=i+2)) }
819 then return (Y1'b); !
32? % return (digrams (password (index=-i), password (index=i+1)).not_end); !
ng 2 end not_end_; |
82 1 |
824 1 s
825 1 end random_word_;
|
COMMAND L INE |
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